113" K HE &P FEABREERINS
#FR IS 55 AL BREREAR [ENREENSEH | ANKEZNSE
E3ZED —MRE  |(FRABEXx1+ AR <1+ BERE —x1+FERE " x1)/4 HWAkiE = GEBERATI9NE) x 80%+ (BEAERDE) x 20% - 68.43 60.00
EEMERFURER —MRE  |(HRABEXx1+ AR <1+ BERE —x1+FERE " x1)/4 BAEE = EIRERATIEODE) x 60%+ (EEERDE) x 40% 53.00 -
BENBEINUEER —MRE |(BRIEN <1 + AR x1)/2 A = (RAIBIS + AORIZESY) + 2 x 30%+ (BEEERIDE) x 70% - 71.30 45.05
RESHKEESR —ME (BRI <1+ R x1)/2 HBRAE = (BRIBIS + RIZEY) + 2 x 40%+ (BEEERDE) x 60% - 69.40 52.60
REIRES —MRE |(BRIEN X1+ R x1)/2 A = (RIBIS + AORIZES) + 2 x 30%+ (BEEERIDE) x 70% - 75.90 60.30
BNRRER —MRE |(BRIEN <1+ R x1)/2 BAAE = (RAIBIS + AORIZESY) + 2 x 50%+ (EEERIDE) x 50% - 53.50 40.00
E3ZES EUEL PRI |(FERIBIX x 1 + R < 1+ BERE —x1+EHXRB Zx1)/4 BAkAE = GEEERATI9DE) x 80%+ (EHERDE) x 20% - 66.53 -
HEPERFELRESR | BUEPER |(FRIBIX x1 + AR <1+ EENE —x1+FERE ”x1)/4 BAkAE = GEEERATI9NE) x 60%+ (EHERDH) x 40% - - -
BREABEINUERS | BUEREW (RIS <1+ ARZE x1)/2 A = (RIBIS + AORIZES) + 2 x 30%+ (BEEERIDE) x 70% - 69.30 67.90
RESHEES B PEW | (RRIBIS x 1 + FRIZE x 1)/2 AR = (FRIEIS + A1) + 2 x 40%+ (BEEENSE) x 60% - 68.40 59.20
REIRE S B PEI | (RRIBIS x 1 + FRIZESI x 1)/2 RAE = (ORIBIS + A1) + 2 x 30%+ (BEEERDE) x 70% - 75.30 65.83
BNERE A B PEW | (RRIBIS x 1 + FRIZE x1)/2 MAE = (ORIBIS + A1) + 2 x 50%+ (BEEERDE) x 50% - - -
E3ZEN RERE  |(REX <1+ FHRAEx 1+ BEER B —x1+BERB " x1)/4 A = GEIEERATIINE) x 80%+ (BEEERDE) x 20% - 66.07 -
BEMERFURER RERE  |(RBESX <1+ FHRAEx 1+ BEHER B —x1+BXERB " x1)/4 A = GEIRERATIINE) x 60%+ (BEEERDE) x 40% ° - -
BEEAmEHME RERE (B <1+ R x1)/2 RAE = ORIBIS + A1) + 2 x 30%+ (BEEERDE) x 70% - - -
RESHEESR RERE (R <1+ FRZEX x1)/2 A = (AN + RN + 2 x 40%+ (EEERDE) x 60% - 64.40 -
REIREZ RERE (R <1+ FRZEXx1)/2 A = (AN + AR + 2 x 30%+ (EEERDE) x 70% - - -
BNRRE A RERE (R <1+ FRZEX x1)/2 RS = (ORIBIS + A1) + 2 x 50%+ (BEEERDE) x 50% - 50.00 -
BEEABEINEER BEREEA  |(FREX <1+ R x1)/2 A = (AN + R + 2 x 30%+ (EEERDE) x 70% - 61.70 -
REIREZ BEREEA  |(FREX <1+ R x1)/2 A = (AN + ARIZE) + 2 x 30%+ (EEERDE) x 70% - 66.09 -




